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Slope - Find Perpendicular - Fraction ' @%
Slope to Slope Zero Intercept Form b=),

.
1 What line equation A B 1 2 What line equation A 1 B
would have a slope that 4 would have a slope that -
is PERPENDICULAR to y = =X y — =X is PERPENDICULAR to y = = y —_— 1$
this slope? 2 4 this slope? 2
1 C D C
3 What line equation A 1 B 4 What line equation A B C
would have a slope that _ would have a slope that
is PERPENDICULAR to y = ——XI y —_ 53;' is PERPENDICULAR to 1 5 1
this slope? 5 this slope? y= —ggpy = _Em Y= -
y=-"bzry= ST 5 5
5 What line equation A B 6 What line equation A B
would have a slope that - 1 would have a slope that l
is PERPENDICULAR to y e 233 y = =T is PERPENDICULAR to y = =X y — _433

this slope? 2 this slope? 4

1: ¢ > 10 4
m = _ VTR, = 4T YT o

7 What line equation A B 8 What line equation A B C
would have a slope that 1 _ would have a slope that
is PERPENDICULAR to y ! y — _533 is PERPENDICULAR to 1 1
this slope? o) this slope? Yy = 3z Y= _-—Ty=-—-2
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